- E®

R 5% 01-1

1.

WO A RE LS, (111455

(1) —m? —4m
(3) 322 — 2x

(5) —222 + 22
(7) —322 — 6z

WORERE LS, (1114 5

(1) 2% — 3zy

(3) 222 — 8xy

(5) 1522 + 9xy

(7) —2m? + 2mn

RONXz KB LS, (11 4 5)

(1) =322 +122

(3) —3y* — 15y
(5) b* —3b
(7) —a®+a

(9) 2m? + 2mn

d\

iz 01-1 —

(2) 522 + 4z
(4) —9y* — 12y
(6) —3n? + 6n

(8) —4m? — 3m

(2) —2b% + 2bc

(4) 322 — 3zy

(6) —3p* — 15pq

(8) —52% + 4xy

(2) =v* -0
(4) —z? — 5y
(6) b* —2b

(8) —20p? — 12pq

— 13th-note —

)



— A#HfE 01-1 —

R 5% 01-1

1.

WO A RE LS, (111455

(1) —m? —4m —m(m + 4)
(3) 322 — 2z 33(3:13 — 2)
(5) —222+22 2z(—z + 1)

(7) —32% — 6x 3:3(—% — 2)

. RORXERES R LS, (114 55)

(1) 22— 3zy x(x — 3y)
(3) 222 — 8xy Zw(m — 4’y)
(5) 1522 + 92y 3x(bx + 3y)

(7) —2m2 +2mn —2m(m — n)

. ROXERESHE LSV, (1R 4 5)

(1) —3224+12: —3z(z — 4)
3) 8>~ 15y —3y(y + 5)
(5) 2 —3b —b(—b + 3)
(7) —a*+a a(—a + 1)

(9) 2m? + 2mn 2m(m —+ n)

( ) ( ) )

(2) 522 +42 z(bz + 4)
(4) —9y2 —12y —3y(3y + 4)
(6) —3n? + 6n 3n(—n + 2)

(8) —4m2 —3m m(—4m — 3)

(2) =202 +2bc —2b(b — ¢)
(4) 322 =32y 3x(x — Y)
(6) —3p2—15p¢ —3p(p + 5q)

(8) =522 + 4y —x (B — 4Y)

2 b —b(b+ 1)
(4) —x? — 5y —w(CB —+ 5y)
6) 2 —2b b(b — 2)

(8) —20p2 —12pg —4p(5p + 3q)

— 13th-note —



R 5% 01-2

1.

WO A RE LS, (111455

(1) —3n? —2n

(3) —2¢% —2¢

(5) 2m? + 10m

(7) —6¢% — 4c

WORERE LS, (1114 5

(1) 2y* +4yz

(3) 222 + 4xy

(5) m? + 3mn

(7) 15b% — 6be

RONXz KB LS, (11 4 5)

(1) —32% — 4ay
(3) —2p* —4pq
(5) —22+2

(7) 922 + 122y

(9) y? +4yz

d\

iz 01-2 —

(2) 3a®+ 4a

(4) —3c® +4c

(6) 3a® — 3a

(8) 4y? + 5y

(2) 3p* + bpg

(4) 5p* + 3pq

(6) —3x2 + 6y

(8) —4p? — 8pq

(2) —b%+b

(4) —2a? — 10ab

(6) —10b2 — 8b

(8) —6y% + 9y

— 13th-note —

)



— A#Hf#E 01-2 -

R 5% 01-2

1.

WO A RE LS, (111455

(1) =3n% -2n —n(3n + 2)
(3) —22—2¢c —2¢c(c+ 1)
(5) 2m2+10m 2m(m + 5)

(7) —6¢* — 4c 2C(—3C — 2)

. RORXERES R LS, (114 55)

(1) 2y + 4yz 2’y(’y + 22’)
(3) 22% + 4zy Zw(m + 2y)
(5) m2+3mn m(m + 3n)

(7) 1562 —6bc 3b(5b — 2¢)

. ROXERESHE LSV, (1R 4 5)

(1) =322 —day —x(3x + 4y)
(3) —2p —4pg —2p(p + 2q)
(5) —2+2 —z(z — 1)

(7) 922 + 120y 3x(3x + 4y)

9) v +4yz Y(y + 42)

(2) 3¢ +4a a(3a + 4)
(4) =32 +4c —c(3c — 4)
6) 3a> -3¢ —3a(—a + 1)

8) 42 +5y y(4y + 5)

(2) 3p% +5p¢ P(3p + 5q)
4) 5p%+3pg P(5p + 3q)
(6) —3x? + 6y —3$(ZB — 2’y)

(8) —4p? —8pg —4p(p + 2q)

2) —2+b —b(b—1)
(4) =242 —10ab —2a(a + 5b)
(6) —1002 —8b —2b(5b + 4)

8) =62 +9y 3y(—2y + 3)

— 13th-note —

)



- E®

R 5% 01-3

1.

WO A RE LS, (111455

(1) —2¢% +2¢

(3) —6n2 +4n

(5) —6x2 + 10z

(7) —22% + 52

WORERE LS, (1114 5

(1) —a®+ab

(3) —2b% + 2bc

(5) —1022 + 6zy

(7) —6p? + 4pq

RONXz KB LS, (11 4 5)

(1) a® — 3ab

(3) —2b% — 3bc

(5) —a® + 3ab

(7) 20m2 + 8m

(9) —92% — 6xy

(2) 1522 + 122

(4) 5b% + 3b

(6) 2m? —2m

(8) —4z* — b

(2) 1522 — 122y

(4) 62 — 102y

(6) 4a® + 20ab

(8) 6m? — 10mn

(2) —22% + 5z

(4) 5m? —2m

(6) 12y — 20y

(8) —922 — 12zy

— 13th-note —

)



— A#Hf#E 01-3 -
R fE 01-3 ( ) ( 4y )

1. wostamsomL s, (1045

(1) 22 +2c —2¢c(c — 1) (2) 1522+ 12z 3z(5z + 4)
(3) —6n2 +4n —2m(3n — 2) (4) 502 +3b b(5b + 3)

(5) =622+ 100 —2x(3x — 5) 6) 2m2 —2m 2m(m — 1)
(1) =222 +52 2(—2z + 5) (8) —42% — 5z —x(4x + 5)

D WOREEER LS, (17 4 50

(1) —a*+ab —a(a — b) (2) 1522 — 122y 3 (DT — 4Y)
(3) =262 +2bc —2b(b — ¢) (4) 622 — 102y 2x(3x — 5Y)

(5) —1022 + 62y —2x(Hx — 3Y) (6) 4a® +20ab 4a(a + 5b)

(7) —6p2 +4pg —2p(3p — 2q) (8) 6m2 —10mn 2m(3m — 5n)

3. RoOREEESHL RS (104 4

(1) a2 —3ab a(a — 3b) 2) —222+5x —x(2x — 5)
(3) =20 —3bc —b(2b + 3c¢) (4) 5m2—2m m(5bm — 2)
(5) —a>+3ab —a(a — 3b) (6) 1242 —20y 4y(3y — 5)
(7) 20m? +8m —4Am(—5m — 2) (8) —922 — 122y —3x(3x + 4y)

(9) —92% — 6xy —3%(3% + 2y)

— 13th-note —



- E®

E# 5% 01-4

1.

WO A RE LS, (111455

(1) —3y* + 2y

(3) 6b2 — 15b

(5) —6x2 + 15z

(7) n>+n

WORERE LS, (1114 5

(1) —6m? — 3mn

(3) 1022 — 62y

(5) 1222 + 162y

(7) —3p? — 3pq

RONXz KB LS, (11 4 5)

(1) —15¢* + 6¢

(3) 15b — 6b

(5) —32% — 5z

(7) —20m? + 16mn

(9) —322 — 32

d\

fiZ 01-4 —

(2) 822 + 10z

(4) —9m? + 15m

(6) 6a% —9a

(8) —10n? + 4n

(2) 3p* — 3pq

(4) 10p* — 8pq

(6) 422 + 10zy

(8) 9y? + 12y=

(2) 8b 4 10bc

(4) 6p* — 15pq

(6) —3b2 + 5b

(8) —x? — 5y

— 13th-note —

)



— A#Hf#E 01-4 —

E# 5% 01-4

1.

WO A RE LS, (111455

(1) -32+2y —Y(3y — 2)
(3) 62— 150 3b(2b — 5)
(5) =622+ 150 —3x(2x — 5)

(7) "> +n ’I’L(’I’L + 1)

. RORXERES R LS, (114 55)

(1) —6m2—3mn —3m(2m + n)
(3) 1022 — 62y 2x(bx — 3y)
(5) 1222 + 162y 4x(3x + 4y)

(7) —3p2 —3pg —3p(P + q)

. ROXERESHE LSV, (1R 4 5)

(1) -15¢2 +6c —3c(Bec — 2)

(3) 1562 —6b 3b(5b — 2)

(5) —3:2-52 —2(3z 4+ 5)

(7) —20m? + 16mn —4m(5m — 4n)

(9) —-322-3: —3z(z+ 1)

( ) ( ) )

(2) 822+ 102 2z(4z + 5)
(4) —9m2+15m —3m(3m — 5)
(6) 6a2—9a —3a(—2a + 3)

(8) —10n% +4n —2n(5n — 2)

(2) 32 —3pg 3p(P — q)
(4) 10p2 —8pg 2p(5p — 4q)
(6) 422 + 10zy 2%(2% -+ 5’y)

8) 9y* +12yz 3y(3y + 42)

(2) 8b2 + 100 2b(4b + 5¢)

(4) 6p> — 15p¢ 3p(2p — 5q)
(6) —362+50 b(—3b + 5)

(8) —x?% — bay —a:(a: + 5y)

— 13th-note —



- E®

R 5% 01-5

1.

WO A RE LS, (111455

(1) —y*+2y

(3) —2m? + 10m

(5) 322 — 12z

(7) 12y — 9y

WORERE LS, (1114 5

(1) 15y% — 9yz

(3) 222 — bay

(5) —6x2 + 10zy

(7) —3b% + 15bc

RONXz KB LS, (11 4 5)

(1) 6n% — 3n

(3) 5y? + 4y

(5) —ba? — 3ab

(7) —2¢% +2¢

(9) 22 — 3wy

(4) 2m? +2m

(6) —2022 + 122

(8) 10a? + 4a

(2) % +zy

(4) 1222 + 15zy

(6) 12m? + 8mn

(8) 8m? + 20mn

(2) 2a% + 2a
(4) —8z% — 6xy
(6) —9n? — 15n

(8) —2y% + 2yz

— 13th-note —

)



— A# 5 f#E 01-5 —

R 5% 01-5

1.

WO A RE LS, (111455

W v +2y —y(y —2)
(3) —2m? +10m —2m(m — 5)
(5) 322 —12: —3z(—z + 4)

(1) —122 -9y —3y(4y + 3)

. RORXERES R LS, (114 55)

(1) 152 —9yz 3y(by — 32)
(3) 202 — 52y @ (22 — 5Y)
(5) =622+ 100y —2x (3T — BY)

(7) =362+ 150c —3b(b — 5¢)

. ROXERESHE LSV, (1R 4 5)

(1) 6n2—3n 3n(2n — 1)

3) 5> +4y y(5y +4)

(5) —5a2 —3ab —a(Ba + 3b)
(7) =22 +2¢ 2¢(—c + 1)

9) 22 - 3zy x(x — 3y)

( ) ( ) )

(2) 3¢ +6a 3a(a + 2)
(4) 2m2+2m 2m(m + 1)
(6) —2022+ 12 4z(—5z + 3)

(8) 102 +4a —2a(—5a — 2)

2) 2 +2y x(x +Y)
(4) 1222 + 152y 3x(4x + 5y)
(6) 12m2 +8mn 4m(3m + 2n)

(8) 8m2 +20mn 4m(2m + 5n)

(2) 2a* + 2a 20,(0, -+ 1)
(4) —82% — 6y —2%(4% -+ 3’y)
(6) —9n2—15n 3n(—3n — 5)

8) ~22 +2y> —2y(y — 2)

— 13th-note —



- E®

R 5% 01-6

1.

WO A RE LS, (111455

(1) —6y* + 9y

(3) 62 + 4c

(5) —10y2 + 6y

(7) b2 + 4b

WORERE LS, (1114 5

(1) 1062 — 6bc

(3) —62% — 15zy

(5) —12m? + 16mn

(7) —12a% — 9ab

RONXz KB LS, (11 4 5)

(1) —2b% — 6bc

(3) —15n% + 6n

(5) 8b% + 4b

(7) —8y* — 6y

(9) —32% +122

(4) 3c? — 3¢

(6) bx? — 2x

(8) 20a* + 8a

(2) 322 + 22y

(4) 2m? — 2mn

(6) 422 + 10zy

(8) —5a2 + 4ab

(2) 222 + 22y

(4) 22+ xy

(6) —a? — 3ab

(8) 15m? — 6mn

— 13th-note —

)



— A# 57 f#E 01-6 —

E%57 % 01-6 ( M) ( ) )

1.

WO A RE LS, (111455

(1) =62 +9y —3y(2y — 3) (2) 322 +3z 3x(x + 1)

(3) 6c2+4c 2¢(3c + 2) (4) 32—3¢ 3c(c — 1)

(5) =102 +6y 2y(—Hy + 3) (6) 522 —2z x(Hxr — 2)

(7) b2 +40 —b(—b — 4) (8) 2002 + 8¢ —4a(—5a — 2)

. RORXERES R LS, (114 55)

(1) 102 —6bc 2b(Bb — 3c¢) (2) 322+ 22y (32 + 2¥)
(3) 622 — 150y —3x(2x + 5Yy) (4) 2m2 —2mn 2m(m — n)
(5) —12m% + 16mn —4mM(3m — 4n)  (6) 422 + 102y 2x(2x + 5y)

(7) —12¢2 —9ab —3a(4a + 3b) (8) —5a2 +4ab —a(ba — 4b)

. ROXERESHE LSV, (1R 4 5)

(1) =202 —6bc —2b(b + 3c¢) (2) 222 + 22y 2x(x + Y)

3) 1502 +6n —3n(5n — 2) ) 2 +2y x(x + 1Y)

(5) 8b2 +4b 4b(2b 4+ 1) (6) —a*—3ab —a(a + 3b)

(7) —8y2 -6y 2y(—4y — 3) (8) 15m? —6mn 3mM(5m — 2n)

9) —3224+12: —3z(z — 4)

— 13th-note —



R#57#% 01-7

1.

WO A RE LS, (111455

(1) 6y + 10y

(3) —6¢* + 8¢

(5) —10m? + 6m

(7) —9m? — 12m

WORERE LS, (1114 5

(1) —9b* — 6bc

(3) —15b% + 12bc

(5) 222 + 2zy

(7) 2b% — be

RONXz KB LS, (11 4 5)

(1) —2y* + 2y

(3) —15b2 + 6bc

(5) 4n? — 4n

(7) 2a2 — 8ab

(9) 4y* + 8yz

d\

01-7 —

(2) —3n%+9n

(4) 2m? + 8m

(6) 2m? + 4m

(8) —12b% + 15b

(2) ¥ +yz

(4) —2y* —2yz

(6) 4a® — 12ab

(8) 622 — 15zy

(2) 8a? + 6ab

— 13th-note —

)



— E#5 R 01-7 -
E# 5 #E 01-7 ( M) ( ) )

1. wostamsomL s, (1045

(1) 652+ 10y 2y(3y + 5) (2) —3n>+9n —3n(n — 3)
(3) =62 +8c —2¢(3c — 4) (4) 2m2+8m 2m(m + 4)
(5) —10m% +6m —2m(5bm — 3) 6) 2m2 +4m 2m(m + 2)
(7) —9m? —12m 3m(—3m — 4) (8) —1202 + 156 3b(—4b + 5)

D WOREEER LS, (17 4 50

(1) —96*> —6bc —3b(3b + 2¢) 2 v*+yz Y(y + 2)

(3) —156% + 126c —3b(5b — 4c¢) (4) =202 —2y> —2y(y + 2)
(5) 202+ 22y 2x(x + Y) (6) 4a® —12ab 4a(a — 3b)
(7) 202 —be b(2b — ¢) (8) 622 — 150y 3x(2x — 5Y)

3. RoOREEESHL RS (104 4

(1) -2 +2y —2y(y — 1) (2) 8a% +6ab 2a(4a + 3b)
(3) —156%> +6bc —3b(5b — 2¢) (4) =22 —4c —2c(c + 2)
(5) 4n2 —4n —4An(—m + 1) 6) 2> —ay (T — Y)

(7) 242 —8ab 2a(a — 4b) 8) —2* —20y —x(x + 2y)

(9) 4y® + 8y=z 4y(y-+-22)

— 13th-note —



- E®

R 5% 01-8

1.

WO A RE LS, (111455

(1) 12¢2 — 9¢
(3) 222 — 62
(5) —422 — 102

(7) —16m2 + 20m

WORERE LS, (1114 5

(1) —4a? — bab

(3) —9p* — 6pq

(5) —22% + 3wy

(7) —4x? — 4y

RONXz KB LS, (11 4 5)

(1) 6b% + 10b

(3) 1522 + 12y

(5) 4c? + 5c

(7) —a? — 3a

(9) —222 + 10zy

(4) —8a? — 6a

(6) 9y* + 12y

(8) 2n% —2n

(2) —2p* — 10pg

(4) —22% — 8xy

(6) —6a® + 15ab

(8) 4a? — 3ab

(2) —3n? —6n

(4) 3b* + 3bc

(6) 12y — 9yz

(8) —2a? — 8ab

— 13th-note —

)



— A# 5 f#E 01-8 —

E%57 % 01-8 ( M) ( ) )

1.

WO A RE LS, (111455

(1) 12¢2 —9¢ 3c(4e — 3) (2) 2a> =50 a(2a — 5)

(3) 2:2 -6z 2z(z — 3) (4) —8a2 —6a —2a(4a + 3)
(5) —422 —10z 2z(—2z — 5) 6) 99> +12y 3y(3y + 4)
(7) —16m2 +20m —4m(4m — 5) 8) 2n2—2n 2n(n — 1)

. RORXERES R LS, (114 55)

(1) —4a% —5ab —a(4a + 5b) (2) —2p% —10pg —2p(p + 5q)
3) —9p2 —6pg —3P(3p + 2q) (4) —22% — 8y —2x(x + 4y)
(5) =222 +3zy —x(2x — 3y) (6) —6a2 +15ab —3a(2a — 5b)
(7) —d2* —day —Ax(T + Y) (8) 4a® —3ab a(4a — 3b)

. ROXERESHE LSV, (1R 4 5)

(1) 66 +100 2b(3b + 5) (2) —3n2—6n —3n(n + 2)

(3) 1522 + 120y 3z (Dx + 4y) (4) 362 +3bc 3b(b 4+ )

(5) 42 +5¢ c(4c + 5) (6) 1242 —9yz 3y(4dy — 32)

(7) —a2 32 a(—a — 3) (8) —202 —8ab —2a(a + 4b)

(9) —222 + 102y —2x(x — 5Y)

— 13th-note —



- E®

R 5% 01-9

1.

WO A RE LS, (111455

(1) —12n% —9n

(3) 6m? + 8m

(5) 2n% + 2n

(7) 4c® — 12¢

WORERE LS, (1114 5

(1) —22% + 4ay

(3) 10p® — 6pq

(5) 4y* — 20yz

(7) 1022 — 4xy

RONXz KB LS, (11 4 5)

(1) —22% — 6y

(3) 322 — 122y

(5) 4a® + 12a

(7) —y* —yz

(9) b% — be

d\

fi2 01-9 —

(

(2) —222 + 42
(4) —3a? — 6a
(6) 5b% — 3b

(8) 42% — 62

(2) 2%+ a2y
(4) —3b% — 4bc
(6) —x? — 4y

(8) —12y2 + 8yz

(2) 5b% + 4bc

(4) 22 — 2y

(6) 1022 + 6zy

(8) p* + 2pq

— 13th-note —

)



R 5% 01-9

1.

WO A RE LS, (111455

(1) 1202 —9n —3n(4n + 3)
(3) 6m2+8m 2m(3m + 4)
(5) 2n24+2n —2n(—m — 1)

(7) 42— 12¢ 4e(c — 3)

. RORXERES R LS, (114 55)

(1) —222 + 4y —2CC($ — 2’y)
(3) 10p2 —6pg 2p(5p — 3q)
(5) 4y* —20yz 4y(y — 52)

(7) 1022 — 4zy 2&3(533 — 2y)

. ROXERESHE LSV, (1R 4 5)

(1) =222 — 62y —2x(x + 3y)
(3) 322 — 122y 3x(x — 4Yy)
(5) 402 +12¢ —4a(—a — 3)
M —v*-y: —y(y + 2)

9 2 —bc b(b — c)

R 7 01-9 —

(2) 222442 —22z(z — 2)
(4) =302 —6a —3a(a + 2)
(6) 56> —3b —b(—5b + 3)

8) 422 —62 —2z(—2z + 3)

@) 2>+ —x(T — Y)
(4) =362 —4bc —b(3b + 4c)
(6) —x2 — dxy —CB(CB —+ 4y)

(8) —122 +8yz —4y(3y — 22)

(2) 562 +4be b(5b 4 4c)
(4) 2% —zy $($ — y)
(6) 10z? + 6zy 2$(5$ + 3y)

(8) p? + 2pq P(P + 2(1)

— 13th-note —

)



— A#H#E 01-10 —

R# 575 01-10

1.

WO A RE LS, (111455

(1) —2¢% +2¢

(3) —3m? —3m

(5) 422 — 162

(7) —c®2 —c¢

WORERE LS, (1114 5

(1) y? + 2yz

(3) 222 — bay

(5) —3x2 — 9zy

(7) —62% — 8y

RONXz KB LS, (11 4 5)

(1) =322 — 122

(3) —12b% + 15b

(5) 10p? + 8pq

(7) —622 + 3z

(9) 422 + 16zy

(2) —9n? + 12n

(4) 3m? + 3m

(6) 4m? — 10m

(8) 1222 + 8z

(2) —22 + 3zy

(4) —4p® + 2pq

(6) —3p* + 3pq

(8) —32% — 3xy

(2) —10p* +4pq

(4) —32% — 2zy

(6) 5b% — 3b

(8) 4a? — 8a

— 13th-note —

)



—- R#5H % 01-10 -

R# 575 01-10

1.

WO A RE LS, (111455

(1) 22 +2c —2¢c(c — 1)
3) =3m2—3m —3m(m + 1)
(5) 422 =162 —4z(—z + 4)

(7) —c®* —c C(—C — ]_)

. RORXERES R LS, (114 55)

W v +20z Y(y + 22)
(3) 202 — 52y @ (22 — 5Y)
(5) =322 — 92y —3x(x + 3Y)

(7) —62% — 8xy —2$(3$ + 4y)

. ROXERESHE LSV, (1R 4 5)

(1) =322 -12: —3z(z + 4)
(3) —1202 + 150 —3b(4b — 5)
(5) 10p2 +8pg 2p(5p + 4q)
(7) —62%+3z 3x(—2x + 1)

(9) 422 + 162y 4 (x + 4y)

( ) ( ) )

(2) —9n?+12n —3n(3n — 4)
(4) 3m? + 3m 3m(m + 1)
6) 4m2 —10m —2m(—2m + 5)

(8) 12:2+82 —4z(—3z — 2)

(2) —a2+3zy —x(x — 3Y)
(4) —4p* +2p¢ —2p(2p — q)
(6) —3p% +3pg —3p(p — q)

(8) —322 —3zy —3x(x + Y)

(2) —10p2 +4pg —2p(5p — 2q)
(4) —32% — 2zy —.CB(?)ZB + 2y)
(6) 56> —3b b(bb — 3)

(8) 402 — 84 4a(a — 2)

— 13th-note —



